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1 Bk 2 ik BA¥ 5 K4 2.2% B3 ik 2 Pk BEEL 4 Ky 2.2%
HIE B 5 Za AL E B wEEs {S B HIE HE 5 Za AL E B wEs {S
1 3 = arin 1:53.1 480 | 294 O 1 1 7—Axb¥ 2:00.5 = 460 1

2 5 TEXTTT— 2:04.2 460 38 O 2 2 hx¥rz=sel 2:24.4 460 285

3 4 JrFfvu=A 2:14.6 480 @ 298 O 3 3 PavsA 2:27.5 460 113

4 2 ATEATATFEA 2:19.7 460 49 O 4 4 7vhk 3:18.8 460 289

5 1 ¥ /n—X 6:06.9 460 = 292

v 2 % BESC 5 KAy 2.2%

HE 5% 5 Za AL H OB weEs 55
1 4 T7T—A—) 2:28.2 460 2
2 2 Hr/a—uiA 2:36.2 460 = 291
3 3 AFRAX 3:11.1 460 = 295
4 5 TUBHAEA 3:24.1 460 @ 119

5 1 FauxzA/ ML 4:27.9 480 | 290




